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4. (1)lx2 -5 ?xz + C; (2)3arctanx —2arcsinx + C;

(3)—x —3x+31n\x\+—+c (4) 12 —3sinx + C;

(5) —f—arctanx+C; (6)x” +arctanx + C; (7)tanx —x + C;
x

(8)%(x—sinx) +C; (9) —dcotx +C; (10)e" +x + C;

(11) —cotx —x + C; (12)2arcsinx + C.
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50 ———.
x /1 -«
2x—%x2 +C, -4, x<2,
6. 1
sz -2x+C,, x=2.

7. f(x) =ln|x| +1.

8. t=50Fb, S=500 k.

9. (1)7x+C; (2) -x" +C; (3)3x" +C; (4)e™ +C; (5)5In|x| +C; (6)sin’x +C;
(Tt +C; (8)tan2x + C.

10. (I)LseCBx —-secx +C; (2) —%cossx +%cos7x +C;

(3)*h1(1+x)+*(arctanx)2+C (4) ln‘x‘ ln‘4+x3‘+C;

(5) —cot X —x4C; (6) ———+C; (7) —1n|3 —22] +C;
2 xlnx 2

(8)2sinyt +C; (9)In|Inlnx | +C; (10) =In|cos /T 447 | +C;
(11)1In]esc2x —co2x | + C; 5% In|tanx | + C; (12)arctane” + C;

(13) arcsm(23) %«/9—4x2+C;
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(14) _97( _1)97 T 49 (x-1 )98_99 (x_1>99+C;

(15)arctan(xlnx) + C; (16) tanx +%tan x +%tdl‘l x+C; (17)fs1n5x +%smx +C.

11. f(x) =2 /1 +x-1.

X

12. (1)arcsinx — 2+C§Z=arcsinx—7+c;

1+ 1 -«

3 . % .
(2) Vx* - 3arccos‘ ‘+C (3)72+C, (4) ; +C;

1+« a a +x
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13. (I)L]TxA‘lnx—l%x4 +C; (2)%[sin(lnx) +cos(lnx) ] +C

(3)2x ve' =1 -4 /e" =1 +4arctan ve" -1 +C; (4)%(55in2x —sin2x +2cos2x) + C;

2
(5)xIn(1 +x°) —2x +2arctanx + C; (6) —237 (4sm 5 teos ;)4-(];
L n+1 _# . o . ~ »
(7)n+1x (lnx (n+1))+c; (8) e 1r1(l+e) 1n(]+e )+C
14 M C. 15 -1 1
' o tC 1S () F( () +C
: ! 2 1 2 1
16. (1)ln -——+C; (2)=In|1 +2x| ——In(1 +5°) +—arctanx + C;
x—1 x -1 5 3 5
1
- A 2, & 42x41 2 V2
(3)5 -7 |— +C; (g + 22 aretan
22 v+ 42 N e 1-«
2tani+1 ﬁ 5
17. (1)J_arctan 72 +C; (2)In 1+tan% +C; (3)garctan(\7§tanx) +C;

1 + cosx

(4)In +C; (5)?[ln‘l+tanx‘—%ln(1+tan2x) +x]+C;

(6)7W—3 VTex+3In| JTax+1]+C;

3

(7)2ﬁ—4%+4ln(1 +y;) +C; (8) _% ii}

+ C.



